The group G is isomorphic to the group labelled by [ 1092, 25 ] in the Small Groups library.
Ordinary character table of G = PSL(2,13):

la 2a 3a 6a Ta 7 Tc 13a 130

x1| 1 1 1 1 1 1 1 1 1

x2| 7 -1 1 -1 0 0 0 —E(13)2—-E(1375—-FE(13) 6 —E(13)7— E(13) 8- FE(13)"11 —E(13) - E(13) 3 - E(13)4—- FE(13)79— E(13)" 10 — E(13)" 12

3| 7 -1 1 -1 0 0 0 —E(13)— E(13)°3 — E(13Y°4— E(13)°9 — E(13° 10— E(13)°12 —E(13)°2— E(13)°5— E(13)°6 — E(13)" 7 — E(13)°8 — E(13)" 11

xa|12 0 0 0 —-EW3-E{W, 4 -—-EMN-E7 6 —E7 2-E)5 -1 -1

x5 |12 0 0 0 —-E@)2—-E7) 5 —E()3—E( 4 —E(M-ET)6 -1 -1

xe |12 0 0 O —E(T—E(7V6 —E(T)2—E(7) 5 —E(7)3-—E(7 4 -1 -1

x7 |13 1 1 1 -1 -1 -1 0 0

xs |14 2 -1 -1 0 0 0 1 1

Yo |14 —2 -1 1 0 0 0 1 1
Trivial source character table of G = PSL(2,13) at p = 13
Normalisers N; Ny Ny
p — subgroups of G up to conjugacy in G P, P,
Representatives nj € N; la 2a 3a 6a 7a 7 Tc la 2a 3a 3a 6a 6a
1-x14+0-x2+0-x3+0-xa+1-x5+0-x6+0-x74+0-xg+0-x9 [ 13 1 1 1 —E(M—-2xE(T)2—-E(7)3—E7)4-2«E(7)5—E(7)6 —ET)—FET)2-2«E(7)3-2«E(7T)4—E(T)5—FE(7)6 —2xE(7)—FE(7)2—-E7)3—FE(7)4—E(T)5—-2xE(7T)6|0 0 0 0 0 0
0-x1+0-x24+0-x3+1-xa+0-x5+0-x6+0-x7+0-xg+1-x9(26 -2 -1 1 —E(7Y3—-E(7)° 4 —E(7T)—E(7)6 —E(7Y2—-E(7)5 0 0 0 0 0 0
0-x1+0-x24+0-x34+0-xa+0-x5+1-x6+0-x7+1-xs+0-x9 |26 2 -1 -1 —E(7T)—E(7)6 —E(7Y2—-E(7]5 —E(7y3—-E(7) 4 0 0 0 0 0 0
O-x1+1-x24+1-x3+0-x4+0-x5+1-x6+0-x7+0-xs+0-x9 |26 —2 2 -2 —E(7)—E(76 —E(TY2—E(7)"5 —E(7TY3—E(7)4 0 0 0 0 0 0
0-x1+0-x24+0-x3+1-x4+0-x5+0-x6+0-x7+1-xs+0-x9 |26 2 -1 -1 —E(7T3—E(7 4 —E(T)—E(7)6 —E(T2—-E(7)"5 0 0 0 0 0 0
0-x1+0-x24+0-x34+0-xa+1-x5+0-x6+0-x7+0-xg+1-x9(26 -2 -1 1 —E(7Y2—E(7)5 —E(7Y3—E(7)° 4 —E(7)—E(7)6 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+1-x74+0-xs+0-x9 |13 1 1 1 -1 -1 —1 0 0 0 0 0 0
T x1+0-x2+0-x3+0-xa4+0-x5+0-x6+0-x7+0-xs+0-xo| 1 1 1 1 1 1 1 T 1 1 1 1 1
O-x1+1-x2+1-x34+0-x4+0-x54+0-x6+0-x7+0-x3+0-x9 |14 -2 2 -2 0 0 0 1 -1 1 1 -1 -1
0-x1+0-x2+0-x3+0-x4+0-x5+0-x6+0-x7+1-x3+0-x9 |14 2 -1 -1 0 0 0 1 1 E@B)2 E@3 E(3) E(3) 2
0-x1+0-x2+0-x3+0-x24+0-x54+0-x64+0-x7+1-xs+0-x0 |14 2 -1 -1 0 0 0 1 1 E(3) E(3y2 E(3)2 E(3)
O-x14+0-x2+0-x3+0-x44+0-x54+0-x64+0-x7+0-xs+1-x9 |14 -2 -1 1 0 0 0 1 -1 E@B3)y2 E@3) —E(3) —E(3)" 2
0-x1+0-x24+0-x3+0-x4+0-x5+0-x6+0-x7+0-xs+1-x9|14 -2 -1 1 0 0 0 1 -1 E@B) EB2 —-EBy2 -—-E@3)

Py = Group([()]) = 1
Py = Group([(2,5,12,8,7,3,10,13,6,11, 14, 4,9)]) = C13

Ny = Group([(1,12)(2,6)(3,4)(7,11)(9, 10)(13, 14), (1,6, 11)(2,4, 5)

1 1 (7,8,10)(12, 14, 13)]) = PSL(2,13)
Ny = Group([(3,13,12,6,10,4)(5,7,8,9,11,14), (2,5,12,8,7,3, 10, 13,6, 11,

,6,11,14,4,9)]) = C13 : C6




